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Q1

SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Below is a statement followed by two
conclusions. Read them carefully and decide
which conclusion(s) logically follow(s) the

statement given.

Statement:
The quality of teachers has deteriorated in
the government schools and parents prefer

to enrol their children in private schools.

Conclusion:

I}  The authorities must take immediate
action to step up the quality of teachers
in schools.

1) All government schools must be either

privatised or closed down completely.

(A) Onlyconclusion [ follows.
(B) Onlyconclusion 1l follows.
(C) Either conclusion]orll follows,

(D) Neither conclusion I nor I follows.
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Q3

Choose an option that is a valid assumption
for the below statement.

Statement:

Due to the concerns of pollution, the Delhi
government had completely banned the use
of crackers in the last Diwali festival,

{A) The bursting of crackers is considered
to be inauspicious during Diwali
festival.

(B) Citizens love to celebrate Diwali only
with lantemns and not crackers.

(C) Children love to watch movies and play
video games instead of bursting
crackers.

(D) The bursting of crackers further
increases the smoke and hence pollution
levels in the city.

Below is a statement and two courses of
action given. Read the statement and decide
which course(s) of action need(s) to be
followed with regard to the staternent given.

Statement:

There has been an increase in the number of
burglary cases last year compared lo previous
YEArs.

Courses of Action:

l.  The police department must step up its
vigil with more policemen on night duty.

II. The residents must be advised to be
extra cautious with strangers and
deploy security guards and night
watchmen.

(A) OnlyAction | needs to be followed

(B) Only Action Il needs to be followed

(C) BothActions land Il need to be
followed

(D) Neither Action | nor Action Il needs to
be followed
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Q6

Q7

Select the option that is related to the third
term in the same way as second term is

related to the first term.

Furniture : Plywood :: Flooring : ?
(A) Walls

(B) Tiles

(C) Maltress

(D) Slippers

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Cricket : Umpire :: Football : ?
(A) Commander

(B) Whistle Blower

(C) Referee

(D) Arbiter

In acertain coded language, if *“WAITER’is
written as ‘XQCCLQ’ and ‘ARTIST’ is
written as ‘BSTQWF’, then how would the
word ‘BEGGAR” be written in that
language?

(A) COEXJD

(B) CQGY#D

(C) CSGClI

(D) CQFZHF

Ina certain coded language, if ‘SUMMER’
iswrittenas ‘S2IMI13E18’ and *“WINTER®
is written as *WINZ0E 18", then how would
the word ‘AUTUMN?" be written in that
language?

(A) A2IT2INI3

(B) A20U21M14

(C) A2IT2IM14

(D) A21U20N13
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(A) A21T2INI13

(B) A20U21M14

(C) A2IT2IMI14

(D) A21U20N13
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Q8

Q9

LM-E

Pointing at a portrait on the wall, Madan said,

“That lady was the mother of the daughter of

the son-in-law of the father-in-law of the
mother of my son.” How is Madan related
to that lady in the portrait?

(A) Father

(B) Son

(C) Brother

(D) Father-in-law

Given below are four statements followed by
four conclusions. ldentify which
conclusion(s) definitely follow(s) from the
given four statements disregarding the

commaonly known facts.

Statements:

1. Allboyscan play
2, Some girls cansing
3. Allgirls can cook
4. Noboy can sew

Conclusions:

1) Nogirl can play
1) Allgirlscan sew
)
V)

Some cook are girls
Boys who can play cannot sew

(A)
(B)
(©)
(D)

Only conclusion I follows.

Only conclusions 111 and IV follow.
Only conclusions [l and 11l follow.
Only conclusions | and IV follow.
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Q10

Q11

Q12

LM-E

Study the below series and identify what
would come in the place of ‘7",

7,13,21,31,43,57, 73,7
(A) 89
(B) 91
(C) 93
(D) 97

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:
Rajan is shorter than Ramesh, who is taller

than George. Who is the shortest amongst
them?

(A) Ramesh isthe tallest person
(B) George is shorter than Ramesh
(C) George istaller than Rajan

(D) Ramesh istaller than Rajan

Which of the pieces of information given in
the options is additionally required to answer
the following question?

Question:

The ages of three friends, A, Band C, are in
the ratio of 5: 4 : 3. What is the age of the
eldest person?

(A) AliseldertobothBandC

(B) Theage of A is a perfect multiple of 5

(C) B was5 years old when C was born

(D) Theage difference betweenAand B is
the same as the age difference between
BandC :

1987042
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Q13

Q4

Q15
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LM-E

Which of the pieces of information given in
the options is additionally required to answer

the following question?

AR T

Question:

All the students in a class passed the exam
and each one got a unigue rank. Sushma
secured 7th rank and has 4 boys ahead of
her and 9 girls behind her. What 1s the total

count of students in the class?

(A) Sushma has 2 girls ahead of her

(B) The ratio of the count of girls to that of
boysis2:3

(C) Thenumber of boys is more than the
number of girls in the class

(D) The topper of the class is a girl

Choose the odd one out.
(A) USB
(B) PCU
(C) DAD
(D) RTO

Choose the odd one out.
(A) Earthquakes

(B) Volcanoes

(C) Tsunami

(D) Global warming

Find the missing term in the following series
8,24,48,80,7,168

(A) 148

(B) 112

(C) 134
() 120
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LM-E

Study the following pie chart showing
expenditure distribution of a certain family
and answer the question that follows.

Q17

frefafa o =, o 5 o P
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If the expenditure budget of the family is
T 18,000 per month, then the monthly
expenses on entertainment, clothing and
transport combined will be.

(A) T 1,800

(B) 3,200

(C) T5,400

(D) T2,800

Nikhil, who is Raman’s son, says to Esha,
“Your mother, Ria, is the younger sister of
my father, who is the second child of
Suresh."

How is Suresh related to Esha?

(A) Father

(B) Uncle

(C) Brother
(D) Grandfather

QI8

afe ufRaw &1 =/ g9ie T 18,000 witvms
B, o O, ®uet alw uRaes it we)
T BN aren wiE =g e B
(A) T 1,800

(B) 3,200

(C) 5,400

(D) T 2,800
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Q19 Given below are three statements followed
by two conclusions. Identify which
conclusion(s) definitely follow(s) from the
given statements disregarding the commonly
known facts.

Statements:

I.  Allcomputers are laptops.

II. All laptops are smartphones.
lll. Some smartphones are tablets.

Conclusions:
|. Some tablets are computers.
[I. Some smartphones are computers

(A) Only conclusion | follows.

(B) Only conclusion Il follows,

(C) Both conclusions [ and 11 follow.
(D) Neither conclusion [ nor Il follows.
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Q20 Which option follows figure C in the same Q2 PFrefsRmiddsm o s fRECcH
way as figure B follows figure A? 816 S UER AgEvr He fore wen
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Q21 Find the odd one out of the below list of Q21 ¥ % fr=ifeiea g 4 | Rw =

colours. ' 4= AT |
Orange, Violet, Brown, Red, Green, Indigo, AR, §H, W, oI, B9, e, den
Yellow
(A) T
(A) Orange (B) T |
(B) Brown (C) 81
(C) Green (D) e
(D) Indigo
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Q22

Q23

LM-E

Read the following terms and decide which
one does NOT fit in that group.

Average, Range, Mean, Variance, Standard
Deviation, Mode, Refraction

(A) Mean
(B) Vanance
(C) Mode
(D) Refraction

Study the below statements and choose the
correct Venn Diagram depicting the
information in the statements.

Some boys can sing
Some boys can dance
3. Some boyscan sing and dance

1.
2.

Sing

(A)

Boys

(B)

(€)

(D)

531,

B

o ro
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(C) sgo&
(D) gaei

frafafea @udl &) ud o st F Ry
v wEEftd @ weflla $@ a3
AT BT TG B
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Q25
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A cube is painted yellow on all its surfaces.
Later, the cube is cut into 64 smaller cubes
of equal size. How many of these smaller
cubes will NOT have yellow colour on any
of its surfaces?

(A) 4

B) 8

(C) 12

(D) 16

Sonam and Sheetal leave the same ofTice
and travel towards their homes. Sonam
travels towards north for 12 km, tums right
and goes another 5 km to reach her home.
Sheetal travels towards south for 12 km, but
turns left and goes another 15 km to reach
her home. What is the shortest distance
between their homes?

(A) 13km

(B) 17km

(C) 26 km

(D) 34km

ASF 08T
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(D) 16
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(A) 13km
(B) 17km
(C) 26km
(D) 34km
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Q27
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

The historic town of Srirangapatna, home
to the tombs of Tipu Sultan and his father
Hyder Ali, is about 15 km from which of
these cities?

(A) Bengaluru

(B) Mangaluruy

(C) Mysuru

(D) Belgaum

Which of these organisations was founded
by veteran freedom fighter, writer and
educationist KM Munshi?

(A) Theosophical Society

(B) Bharativa Vidya Bhavan

(C) Indian Statistical Institute

(D) Indian School of Mines

The world would specifically associate the
word ‘holocaust’ with which of these
countries?

(A) Germany

(B) Egypt

(C) China

(D) Mexico

14
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Q29 During the Mughal administration, what was
the exact role of a "Kotwal'?
(A) Leadingthe army forbattle
(B) Maintaining the treasury
(C) Collecting revenue

(D) Maintaining law and order

Q30 The Child Marriage Restraint Act, 1929, is
popularly known by which other name?
(A) SardaAct
(B) Vijayalakshmi PunditAct
(C) NaiduAct

(D) Manavati Act

Q31 In which city did Swami Dayananda
Saraswati first establish the Arya Samaj in
the year 18757
(A) Bombay (now Mumbai)
(B) Ahmedabad
(C) Pune

(D) Calcutta (now Kolkata)

LM-E

Q29 HIA WET & SR, Uh Piaare &l
wE T T o
(A) F& B forg 1 @1 e B
(B) UAH Pl qY TG
(C) Wua THIET BT
(D) T SR Fawen g1 G

Q30 w1t fAame aEde sfRfam, 1929 &)
fFfofan frm smg am | ® o
T 87
(A) TvET afafam
B) faoeeh dfea afafam
(C) g A
(D) -HrEe! Afafrm
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(©) g
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Q32

Q33

Q34

LM-E

Megasthenes, the author of the famed treatise
about India called Indica, originally belonged
to which country?

(A) Portugal

(B) Greece

(C) Egypt

(D) Turkey

In which town of Uttar Pradesh would you
find the 14® century mosque called as the
Atala Masjid (or Atala Mosque)?

(A) Ayyubganj

(B) Haidergarh

(C) Jaunpur

(D) Fatehpur

The Greenwich Mean Time (GMT) marks
the starting of time zones in the globe, and
the time in any country is a measure of number
of hours that country's time is ahead or behind
GMT. This town of Greenwich is located
near:

(A) London

(B) Amsterdam

(C) Chicago

(D) New York
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Q35

Q36

Q37

LM-E

The Cholanaikkans, Kurumbas,
Kattunaikans, Kadars and Koragas are
primitive tribal groups of which part of India?
(A) Andhra Pradesh

(B) Andaman and Nicobar Islands

(C) Kerala

(D) Odisha

Hero Cycles is one of the largest cycle
manufacturers in the world. In which city did
they first set up shop way back in 19567
(A) Ludhiana, Punjab

(B) Chennai, Tamil Nadu

(C) Sonipat, Haryana

(D) Kolkata, West Bengal

In which city of the world would you find
the Trafalgar Square?

(A) Beijing

(B) London

(C) New York

(D) Paris
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Q38

Q39

Q40

The *Writer's Building' is the secretariat
building of which state government of India?
(A) Telangana Government

(B) Kamataka Government

(C) West Bengal Government

(D) Gujarat Government

The city of Vijayawada in Andhra Pradesh
is located on the banks of which river?
(A) Cauvery

(B) Godavari

(C) Mahanadi

(D) Krishna

What is the capital of Azerbaijan, a country
that was once a part of the Soviet Union
(USSR)?

(A) Ulaanbaatar

(B) Kiev

(C) Baku

(D) Tashkent

oVRliviE
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Q43

LM-E

Which of these four awards is presented by
the King of Norway and is often referred to
as the Nobel Prize of Mathematics?

(A) Fields Medal

(B) Abel Prize

(C) WolfPrize

(D) Chem Medal

What is the official term of the office of a
Governor of a state in India?

(A) 3years

(B) 4 years

(C) 5years

(D) 6vyears

What is the colour of the Ashoka Chakra in
the Indian tricolour ( Tiranga) flag?

(A) Purple

(B) Magenta

(C) NavyBlue

(D) Black
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Which fruit was adopted in 1950 as the
“national fruit’ of India?

(A) Apple

(B) Mango

(C) Grapes
(D) Banana

India’s Accord Group and Oman’s Ministry
of Oil and Gas have signed a $3.85 billion
deal to build an oil refinery in which of these
countries?

(A) Afghanistan

(B) Bhutan

(C) SriLanka

(D) Nepal

The dolls made out of this string puppet art
form of Rajasthan recently won the
Geographic Indication (GI) tag. By which
name are these dolls known?

(A) Channapatna Dolls

(B) Kondapalli Dolls

(C) Kathputli Dolls

(D) Khurja Dolls

Q44
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LM-E

Lakshmi Vilas Bank (LVB), a 93-year-old
bank from Tamil Nadu, merged with a
financial entity from Mumbai. Name the
entity.

(A) HDFC Bank

(B) Indiabulls Housing Finance

(C) Dewan Housing

(I Reliance Home Finance

Name the country that conferred its highest
civil award, the Zayed Medal, on Indian
Prime Minister Narendra Modi in April
2019.

(A) Iran

(B) Afghanistan

(C) United Arab Emirates

(D) Malaysia

Vidarbha won the 2018-19 Ranji Trophy
tournament. Which team did it defeat in the
finals at Nagpur in February 20197

(A) TamilNadu

(B) Saurashtra

(C) Mumbai

(D) Kamataka

JiTrs42
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Q50 Who is the Director of Tata Institute of

Q51

Q52

Fundamental Research (TIFR), a premier
research institute of India located in Mumbai,
as of March 20197

(A) KN Vyas

(B) Shalini Bhatt

(C) Rakesh Bhatnagar

(D) Sandip P Trivedi

The new year for both Andhra Pradesh and
Maharashtra starts in the Hindu month of
Chaitra. In Andhra, it is referred to as Ugadi,
How is it referred to as in Maharashtra?
(A) Lawni

(B) Baisakhi

(C) GudiPadwa

(D) Bhau Beej

Pandit Madan Mohan Malviya's grandson,

Justice Girdhar Malviya, has recently been

appointed as the Chancellor of which famous

university/institution?

(A) ShardaUniversity

(B) Banaras Hindu University

(C) Mahatma Jyotiba Phule Rohilkhand
University

(D) Chhatrapati Shahu Ji Maharaj
University

3537542
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LM-E

The Guru Angad Dev Veterinary and Animal
Sciences University is located in which city
of Punjab?

(A) Patiala

(B) Ludhana

(C) Amiitsar

(D) Chandigarh

The form of farming in which nearly all of
the crops or livestock raised are used to
sustain the farmer and his family is
traditionally known by which name?

(A) Subsistence Farming

(B) Minimalism Farming

(C) Quota Farming

(12) Institutional Farming

Which of these is NOT an edible plantation
crop?

(A) Cocoa

(B) Arecanul

(C) Rubber

(D) Tea
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Q57

Q58

LM-E

In the computer terminology, what is the full
form of PDF?

(A) Printable Document Format

(B) Print Dispatched File

(C) Protocol Disk File

(D) Portable Document Format

In which city of Uttar Pradesh would you
find the following majestic Ghats: Assi Ghat,
Manikamika Ghat and Harishchandra Ghat?
(A) Kanpur

(B) Varanasi

(C) Prayagraj

(D) Ghazipur

The famous Iron Pillar of Delhi, which has
withstood centuries of exposure to nature
wr&mui any rusting, is housed within which
ofthese historic complexes?

(A) JamaMasjid Complex

(B) Red Fort Complex

(C) QutbMinar Complex

(D) Humayun’s Tomb Complex

8-
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Q60

Q61

LM-E

is the second largest dam of that state.
(A) Gujarat

(B) Telangana

(C) Odisha

(D) Maharashtra

‘Bahujana-hitiya bahujana-sukhdya’ is the Q60

Sanskrit-based motto of which of these
(A) Doordarshan

(B) Banaras Hindu University

(C) Alllndia Radio

(D) Indian Meteorological Department

For helping farmers discover a better pricing
for their coffiee, the Coffee Board has come
up with which of these innovative
marketplace apps?

(A) Coffee Blockchain

(B) Coffee Cloud

(C) Coffee Connect

(D) Coffee Choupal
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Q62

Q63

Q64

LM-E

Name the state that has launched a
commission called PRANAM Commission
to specifically look into the responsibility of
elderly parents of government employees.
(A) Assam

(B) Odisha

(C) Tamil Nadu

(D) Rajasthan

Where is the head office of the Tea Board of
India?

(A) Danecling

(B) New Delhi

(C) Kolkata

(D) Kochi

When you open a new Excel workbook, how
many worksheets is/are present by default
at the time of opening?

(A) One

(B) Three

(C) Five

(D) Seven

IITTSAZ
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Photoshop is a software program that is
extensively used for image editing. graphic
design and digital art. The company that has
the selling rights of this software is:

(A) Microsoft Corporation

(B) Apple Inc.

(C) Oracle Corporation

(D) Adobe Inc.

EdgeVerve Systems is a wholly owned
subsidiary of which of these Indian IT
companies?

(A) Wipro

(B) Infosys

(C) HCL

(D) TCS

Which of these countries shares an
international border with the state of Uttar
Pradesh?

(A) China

(B) Nepal

(C) Bhutan

(D) Bangladesh

J1B1TS42
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Q68 Whichamongthese districtsof Uttar Pradesh Q68 s vy & fefafaa 4 @ #9 W

069

Q70

is completely surrounded by other districts
of Uttar Pradesh (i.e., does NOT share a
boundary with any other adjacent state or
country)?

(A) Saharanpur

(B) Deoria

(C) Hardoi

(D) Lalitpur

Veteran superstar Amitabh Bachchan hails
from which city of Uttar Pradesh?

(A) Prayagraj(Allahabad)

(B) Kanpur

(C) Meerut

(D) Agm

The famous Bankey Bihari Temple is located
in which town of Uttar Pradesh?

(A) Samath

(B) Varanasi

(C) Vrindavan

(D) Agra
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Q72

Q73

LM-E

Which of these is the state animal of Uttar
Pradesh?

(A) Red Panda

(B) Swamp Deer

(C) Indian Bison

(D) Water Buffalo

The city of Saharanpur of Uttar Pradesh is
globally famous for which of these arts and
crafts?

(A) Bangle making

(B) Perfumesand Scents

(C) Wood carving

(D) Carpet making

In which town of Uttar Pradesh would you
find the Central Avian Research Institute
(CARI)?

(A) Agra

(B) Bareilly

(C) Lucknow

(D) Kanpur

ZFSLBZLE
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Q75

LM-E

The state of Awadh (also called Oudh) was
ruled by Muslim rulers from 1722 to 1856.
What was the title that the rulers adopted
whileruling Awadh?

(A) Sultan

(B) Badshah

(C) Nawab

(D) Sahib

The famous Alai Darwaza, built by Alauddin
Khilji, is located at:

(A) Agra

(B) New Delhi

(C) Awadh

(D) Warangal

EFSilIGLE
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Q17

Q78

Q79

Q80

LM-E

SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

Which instrument is used to detect the
presence of current in a circuit?

(A) Ammeter

(B) Voltmeter

(C) Rhepsmat

(D) Galvanometer

The three basic units of an electronic

communication system are;

(A) transmitter, transmission channel and
receiver

(B) modulator, demodulator and repeater

(C) transmitter, noise and information

(D) transmitter, signal and modulator

The lowest temperature at which a substance
catches fire is called its:

(A) melting temperature

(B) ignition temperature

(C) boiling temperature

(D) freezingtemperature

Chemicals are added to food for:
{A) degradation

(B) decompasition

(C) preservation

(D) recycling

Which of the following stalements is TRUE

about synthelic detergents?

(A) They work with bath soft and hard
water.

(B) They do not work with hard water.

(C) They work only with hard water.

(D) They only work with soft water.
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Q82

Q83

Q84

Q85

Use of chemicals for therapeutic effect is
called:

(A) chemistry

(B) chemotherapy

(C) physiotherapy

(D) chromatography

Which of the following diseases is caused
by the deficiency of vitamin D?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

What is the percentage of fat and sugar
recommended in the diet of a growing child?
(A) 7%

B) 25%

(C) 15%

(D) 30%

Based on the United States Department of
Agriculture (USDA) guidelines, what should
be the daily calorie intake of sedentary men
and women over 30 years of age?

(A) 1,600 to 2,200 calories

(B) 1,000 to 2,000 calories

(C) 1,000to 1,400 calories

(D) 1,600 to 2,400 calories
Hypocobalaminaemia is caused by the
deficiency of which of the following vitamins?
(A) VitaminB12

(B) Vitamin A

{C) VitaminC

(D) VitaminK

Z¥SIELIE
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Q89

Q90

LM-E

Which of the following diseases is caused
by the deficiency of vitamin B3 (niacin)?
(A) Rickets

(B) Beriberi g
(C) Nightblindness

(D) Pellagra

72582

Which of the following allergens causes hay
fever?

(A) Seafood

(B) Penicillin

(C) Pollen

(D) Nuts

Which among the following controls the
beating of the heart and respiratory
movements?

(A) Medullacblongata

(B) Spinal cord

(C) Spinal nerves

(D) Pituitary gland

Which is the basic structural and functional
unit of the nervous system?

(A) Neuron

(B) Nephron

(C) Cerebrum

(D) Cerebellum

Select the non-metal added to swimming
pools to kill germs.

(A) Oxygen

(B) lodine

(C) Chlorine

(D) Nitrogen

33

Q86

Q87

Q88

Q89

Refim B3 Frafim) & 58 9 Prafafam
# N P W AT B 27

(A) Raew

(B) ¥had

(C) witeh

(D) &mm

Frafaftr % @ fra sople (ast) @
BRY YT =R BT 87

(A) aqd o=

(B) ufafafee

(C) v

(D) 3@ e, I (Nuts) S

frfafem 4 4 99 W gga A gson
IR e @ FatE s 87

(A) #gen sifaiter

(B) ooy

(C) #% e

(D) drqw ufy

Preferfr % & @ @ o da 5=
WS AN SRS e 87

(A) =i

(B) Wi

(C) afam

(D) AfaAem

FrerpEl # 9 @ fag Rafin ga &
B WH aren dv-arg #1982

(A) 3o

(B) I

(C) #&=

(D) rggor
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Q91 Solvethe following. Q91 Fr=ifafEa &1 &a F

10-[S—(5+10)]+5 10-[5~(5+10)]+5
(—5+10)-(5-10)=5 ' (=5+10)—(5-10)+5
(A) 1 (A) 1
(B) 2 (B) 2
©) 5 ©) 5
D) 10 D) 10
Q92 Solvethe following. Q92 fr=faflaa & ga &)
o 0.9
(A) 1 (A) |
®) 1.1 ®) 1.1
©) 0.1 (©) 0.1
D) 0.01 | (D) 0.01

g

Q93 The sum of three consecutive odd numbers Q93 ware d fww Wl @1 9m, g

[

is 36 more than the first of these numbers. vt § | ugEell Wea 6 e A 36
What is the middle number? wfere &1 ma wWe w87

(A) 15 (A) 15

(B) 17 ®) 17

(C) 19 (C) 19

(D) 21 (D) 21

Q94 The average of ten numbers is 6. If each Q94 = wemil & hwm 6 8 Ak W

number is multiplied by 12, then the average e a1 129 Ton e omn @, o
of the new set of numbers will be: Tt & v ¥e & e & e
(A) 20 (A) 20
(B) 28 (B) 28
(C) 36 (C) 36
(D) 72 (D) N2
Q95 Ifﬁ=#.thmthnulucuh is: Q95 I a%=% B, o x & "E
(A) 0.0144 BITI7
(B) 0.144 (A) 0.0144
(C) 144 (B) 0.144
(D) 144 (C) 1.44
(D) 144
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Q96

Q97

Q98

Q99

LM-E

The salaries of Arjun, Vikram and Vijay are
inthe ratio 2 : 3 : 5. If increments of 15%.
10% and 20% are allowed respectively in
their salaries, then what will be the new ratio
of their salaries?

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

Express the following as a decimal.
0.001%

(A) 1

(B) 0.001

(C) 0.0001

(D) 0.00001

A and B together can complete a piece of
work in 6 days. If A alone can complete the
same work in 10 days, then in how many
days can B alone complete that work?

(A) 12days

(B) 13 days

(C) 14days

(D) 15days

Monish can cover a certain distance in 1 hour
24 minutes by covering two-third of the
distance at 4 km/h and the rest at 5 km/h.
The total distance is:

(A) 6km

B) 6.5km

(C) 8km

(D) 10km

Q96

Q97

:
Q98

35

Q99

I, s s Ra s aaq2:3:59
ygum 4 8| AR s a3 A Fw
IS%IWuGﬁ?ZD%ﬁﬁHHq&'ﬁ
Ffa & S 2, o S Y Ao @
AT FIT BT

(A) 3:6:10

(B) 23:33:60

(C) 21:03:60

(D) 23:35:60

fFrfaftrn &) svmae § a9 o9
0.001%

(A) 1

(B) 0.001

(C) 0.0001

(D} 0.00001

A 3l B fraee e =m =1 6 21 %
w8 | afy A srder oW am
& 10 37 # g &% wear &, @1 B arden
oW &M 3 e Re A g v wem
#?

(A) 12f=

B) 13fE=

(C) 14f&=

D) 15f=

wifre @ Pftaa o & S-fed
@ 4 km/h 3R 99 qFT B S knwh B A
A 1 H2 24 fe % a7 o woar & | gW
Tl wme |

(A) 6km

(B) 6.5km

(C) 8km

(DY 10km
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Q100 A man,awoman and a boy can complete a
job in 2, 3 and 6 days respectively. How
many boys must assist | man and | woman
to complete the job in half a day?

(A) 5
(B) 6
{C) 7
(DY 10

Q101 The radii of two right circular cylinders A
and B are in the ratio 5 : 2 and their heights
are in the ratio 7 : 5. What is the ratio of the
curved surface arcas of A and B?

(A) 2:7
®B) 7:2
(C) 2:5
D) 5:2

Q102 Iftoday is Saturday, after 71 days, it will be:
(A) Monday
(B) Friday
(C) Saturday
(D) Sunday

0103 Ina AABC,AB=6cmand AD isthe angle
bisectorof £ A.IfBD:DC=3:2, then
AC will be equal to:
(A) lem
(B) 1.5cm
(C) 2em
(D) 4em

LM-E

B IR #ar (¥

36

QIMwm,Wmmme

Q101

wM 3 A 2,3 3w 6 At A qu aw
o & om @ o A A QA @
forg | amed v | wfgen @ wEEo @
fau fred dea! & TE@ar Afey?
(A) 5

(B) 6

©) 7

(D) 10

21 o gl & (right circular cylinders)
Al B# Brom 5:23 arqua A IR
I dargdi 7:5D arqua A 1 AR
B® o YO @ &AWl (curved surface
areas) &1 U FIT Y |

(A) 2:7

®B) 7:2

©) 2:5

(D) 5:2

Q102 afE arw wfvar 8, @ 71 Ra @ arg, &

Q103

Er?

(A) HPER
(B) gmar
(C) vfmar
D) daw

AABCH AB=6cm 3R £ A& &0
WHEHTAS (angle bisector) AD & | afX
BD:DC=3:28% @ AC® wF &
R

(A) lem

(B) 1.5em

(C) 2em

(D) 4em
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Q104 If x* +—=23,and x>0, then the value Q104 afg 12+i1 =23 My x>0® @t
X X

ufJH%i; -T"'i?ﬁltlﬁﬂﬂ'lghﬂ‘
(A) 1 " (A) 1
®) 2 g ® 2
€5 (C) §
(D) 6 (D) 6
Q105 Solve the following. Q105 Fr=fafaa &1 sa 1)
(cos® @—1)cot* @+1)+1="? (cos’ @ -I)(cot’ @+ 1)+1="
(A) -1 (A) -1
(B) 0 (B) 0
€)1 (€)1
(D) 2 (D) 2
Q106 If*t’ is the standard deviation of a, band ¢, Q106 a2 a, b3l ¢ F 75 fAaes v & &
then the standard deviationofa+6,b+ 6 a+6,b+63M c+6F HE fAass
and ¢+ 6 will be: a1 gr?
(A) t (A) t
(B) t+6 B) t+6
(C) atb+c (C) a+tb+c
(D) 6t (D) 6t
Q107 If @ and Bare the roots of QI07 X ax’ + bx + c= 0BT e a IR g
axr’ + bx + ¢ =0, then one of the quadratic & ot gfam Wil 4 @ v R
cqun:imswhm:mmsmémd%“ill = é mé 8. Pr=faftn 4 @t o=
be: |1 Brm?
(A) a + bx + =0 (A) ar’ + bx + =0
B) b +ax+e=0 (B) b’ + ax + ¢=0
C)exX*+ax+b=0 C) e +ax+b=0
D) e +bx+a=0 D) ex+bx+a=0
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Q108 Let @ be a prime and b be a composite

number such that a + b = 240.Also, the
LCM of aand b is 4199. Then a and b
respectively are:

(A) 23,217

(B) 17,233

(C) 19,221

(D) 13,227

0109 Outofthe following numbers, a terminating

decimal is:
(A)

(B)

S ) [ S ¥E

(©)

[0 b=

(D)

Q110 TapA can fill atank in 18 minutes, B in 36

minutes and C in 54 minutes. Tap A was
opened; | minute after that, tap B was
opened; and 4 minutes after that, tap C was
opened. The time required (in minutes) to fill
the tank was:

(A) 9

(B) 11

(C) 6

D) 8

Q111 The ratio of present ages of Reemu and Alka

is 3 : 2. 20 years ago, which of the following
CANNOT be the ratio of their ages?

(A) 17:10

(B) 8:5

(C) 7:5

(D) 9:5

FRGITELE

38

Q108

WA of g U e e B AR b Us
o eI & gH TNE P a+ h=240%
avEy & | g AT a 3R b H AYWH
HHad® 4199 8| A7 a 3R b H FHU
A | w |
(A) 23,217
(B) 17,233
(C) 19, 221
(D) 13,227

Q109 fr=fofae wene 7 | @i Tyweg

Q110

QIll

@I 491 87

(A)

(B)

] o~

b | —

(€)

wd | b2

(D)

7 A e 22 @1 18 Fee o ww aaa
£ BEH 36 fire # 3k C, 54 e A
ol &1 A9 AN T IS | e
T1g, 7 B @en war; 3w 9wa 4 fase
qE, A6 C WA T4r| D B WA B
fore amavas waa (fme ) fsosn &P
(A) 9
B) 11
(C) 6
(D) 8

¥ afiv areat A adHE ATy 1 AT

3:2%) 20 of vga, Pr=forfea # @ @

| I Y F I AE B HHal

87

(A) 17:10

(B) 8:5

(C) 7:5

D) 9:5
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Q112 Ram is twice as good a workman as Rahim.

QI3

Q114

Q115

Ram takes 6 days to complete the work
Rahim will complete the same work in:
(A) 6

(B) 3

(C) 12

> 9

If sina—cosa = %, then sinacosa is

equal to:
8
25
16
25
9
25
b
16

(A)
(B)
(©)

(D)

When the number ¢ is increased by 20%6 and
then reduced by 20, we get 160. If the
number & is reduced by 20% and increased
by 20, we will get:

(A) 144

(B) 140

(C) 152

(D) 148

While selling 5 m of a cloth, profit made is
equal to the cost price of 2 m of that cloth.
The profit percentage is:

(A) 40%

(B) 30%

(C) 45%

Il‘l
D) 37%

LM-E

L

39

Q112 39 & wrderen €W @) wrderEer @

Q113

Q114

Q115

gt &) v e e @ 6 e A gw
ol 8 | v oW o &1 fed e i
o H?

(A) 6

(B) 3

C) 12

(D) 9

3 .
afe unu—casazgﬁ, i sinacosa

&1 | T BT
8
25
16
25
l;
25
9
16

(A)
(B)
(C)

(D)

WA Ud den a i 20% gy ol @ e
fie a® 20 % 81 @ 8, at & 160 wra
ﬁmﬁlﬂﬁmﬂﬁzm’nﬁmg
3R 20 @ gfg &xht &8 @ & @ wra
BIT?

(A) 144

(B) 140

(C) 152

(D) 148

5 m HIE] hﬁiﬁ?ﬂ?ﬂ, afofer @mr aw
HIE B 2m D HY o4 & qvaY g 8|
wfota am wfvem e & |

(A) 40%

(B) 30%

(C) 45%

|
(D) 33“{?&
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Q116 What is the name of the reserach station set
up by India in Antarctica in the year 20157
(A) Dhruva
(B) Hind
(C) Sagarika
(D) Bharati

Q117 Whichofthe following institutes was the first
to be established as lIT (Indian Institute of
Technology)?

(A) NIT Kanpur
(B) IIT Bombay
(C) T Kharagpur
(D) NIT Madras

Q118 How many years of orbiting Mars planet
were completed in September 2018 by the
Mars Orbiter Mission launched by ISRO?
(A) 4years
(B) 5years
(C) 6years
(D) 7years

Q119 In the water cycle, clouds are formed by
the process of:
(A) evaporation
(B) condensation
(C) decomposition
(D) meting

Q120 Whichofthe following isasign of deficiency
of vitamin C?
(A) Bleeding gums
(B) Protruding belly
(C) Nightblindness
(D) Stomach ache

LM-E 40

Q116 af 2015 ¥, WRe AN emieH § wnfia

ITHIA W S AW T 87
(A) 43

(B) o=

(C) wrRan

(D) wreeht

Q117 F=fefen & & e w1 wws 1T

TEECLATE

(et st Heer) @ Wy | wnfia
fram wrm er?

(A) IIT SR

(B) NT &=

(C) IIT WETYR
D) 1T 7™

Q118 T (ISRO) gamr wefta #r aiifdex

et @& weaw 9 Ridax 2018 % w9 T8
@ gRwar feae aet § qf @ m?
(A) 4T

(B) 5ad

(C) 6T

(D) 799

Q119 W °% ¥, I1ed! @ Ton Ao

W 5w uftsan gamn e 87
(A) Ty

(B) W=

(C) 3Ees

(D) ITeE

Q120 F=ifafaa 4 & o= w1 Refm c A

HA BT e 87

(A) wgei | @A Peam
(B) Uz @& 3

(C) weifelt
(D) % # g
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Q121 Who among the following are at higher risk
for anaemia?
(A} Old persons
(B) Children
(C) Pregnant women
(D) Animals

MOATTTSLT

Q122 Which of the following animals can spread
rabies?
(A) Lizard
(B) Squirrel
(C) Pigeon
(D) Dog

Q123 Which of the following are an example of
surface water resource?
(A) Lakes
(B) Wells
(C) Oceans
(D) Tankers

Q124 Which of these is an inner planet or a
terrestrial planet in our solar system?
(A) Satum
(B) Jupiter
(C) Mars
(D) Uranus

Q125 Fuse protects an electric circuit from:
(A) overloading
(B) converting one form of energy into
other
(C) camrying current
(D) inducing current

LM-E

Q121 Fr=faftaa # 9 fm o 89 &7
e e B &7
(A) g% oifa
(B) =
(C) meh afgan
(D) Wraw

Q122 Fr=fafaa 4 9 &9 W sFar W
BT Tepar 87
(A) forgaeit
(B) firesd
(C) B
(D) g

Q123 f=ifaRan & 9§ @Y% wr wag W o
IS & U SaEvy &7
(A) #a
(B) mam
(C) Hq=
(D) e

Q124 F=iferftaa # & @9 @1 g9 ¥R ded
B UE daR®s 7w @1 uftfy ug &2
(A) o
(B) gEwfar
(C) wTel
(D) 3rev U8

Q125 Wy, 1% fagge uRuy (seifass wfafe)
@1 e =R % & fas evar 27
(A;kaﬂﬁﬂm (ahavenfem)

(B) @il @ Us w9 BT g # uRadw
(C) urr 9Ras=
(D) SRT SNy
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Q126

0127

Q128

Q129

Q130

LM-E

SECTION-4| GENERAL HINDI | 25 QUESTIONS

Hanr # fhe gueEl @1 gAnr gam 87 QI3
(A) ¥
(B) 1
(C)
D) ¥

fferfaa # & e ey & afga veag

@1 WA gl 8?7

(A) =i Q132
(B) frsa

(C) werg

(D) fiamy

I |1 W T T8l &7
(A) W

(B) OmHEIeT Q133
(C) uign

(D) fes

32027042

TG & THT WY T BT

(A) v

(B) afiw Q134
(C) wer

(D) af

Mg foran g g7 & forv Suge Us
e TR

(A) &

(B) Tw®

(C) T

(D) T

42

3 W oy S
gl Bl — S e 9 R wme
HRY |

(A) ST

(B) #

(C) fom

(D) arme

T far gn @ 98 8@ — g §
GEEIEE I A G s -1

(A) F9&

(B) fa=m

(€) an

(D) ®E

frw wreg @t oo g &7
(A) T=

(B) wafw

(C) wafdF

(D) T

RTH WM BT | — O @re 1 SaTEe
&7

(A) wfewr aam

(B) wifeme 3

(C) wifgwer Wity

(D) HHErFg Wi
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Q135 F=fafaa 4 & $= w1 wagrey & Q139 3@ & e AW AITHE — DI

TETERYT &7 &1 | e g |
(A) H1 gwTH ue) | (A) T B ATHY AW BT
(B) U¥I®H udl @i & (B) 7o & fawg = g

(C) 3 @ETEr Wer &

(C) 7™ &

(D) o9 % =T e W | (D) @i % $o g feran =fdm
Q136 fr=felRen # gg @ &= wr &7 Q140 YETIHR 3R =T BT DI A1 I TE
(A) # auE g9 F A §) el 87
(B) 9 910 & ®e~ A [HYl B Ghg (A) ot — wrafta W
T B (B) goed — fiwmaa
(C) # A=t a1 & Wi & forg (C) Wt — g=mmad
TR § (D) w= — fer=mEe
(D) ¥ yany ant A S ¥ e |
Ql41 ‘wyan o ol "y Wift ot fewah
Q137 °F =, fave frewr, o 9w anf TEAT 87
=g & 4 e faRm-fre @ (A) S gof fig
warT faar ST (B) weeR Wl ordt
@) , (€) Wiy BfeE
(B) - (D) gE a1gd
(©) :
D) ; Q142 4 2016 &1 WfEw PHEH BN fFa
TEATERN @ B T
QI38 i Ry geTe 3R S99 aref & g H (A) 5ger mi
¥ U Wrer Tad &, 99 ysaH | (B) hrEn wE
(A) a9+ O @ST 81T = Wrdetdl 141 (C) e fam
(B) a7 o &A1 =Ty o P (D) =fr g

LM-E

a1 BN 7 I A
(C) @ e = faafera = gFn
(D) HTHM T 9SAT =9 & Hae
&




Q143 g @ o =] iR & daarm
grft | 2 Wi it & B aree
# foran wan 87
(A) 343
(B) 344
(C) 345
(D) 347

frafeafag g & wd s uw
(W WG 144 - 146) B TR © |

wifee=if & wwE § qrosEal @
I T HE@yY & | §9 A Wit
& oftgs 91 v, gfe ik afgfy ol
2| qRETEE WA & gl @
SHer-umTen TaE 8§ @ 99 W
G L L 1 M e LR R AR
T4 | gEEEy NG & fau o e
T 81 8 | fafl & anfassr & o
#m FRer qes &1 H@aE o @ 8
| gl dare, RgaeE v Jues @
| e @ W W a9 | 3 afRe,
fagawordl @ a9 el gR@ey o
XY € | HRvrren @ Nfashr A gd g
1 HUE SN ATAGA DI T8 Wl AT

ot | anroreel aERY Ruft @ qrasey
i forel wufta ool 8, St & e
-l @ gwe @ G99 A4 F
o wed) o | WG B aaiad HaR
R W AT A FE v o | g
A e wwel @ W as @ Ry
v | 91, wew waft gy fua 2 @
o33 Rgager o) arad e

WA AT S o)

LM-E
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Q144

Q145

Q146

e g @ Sfua i w2 @
| 87

(A) W ®ed & JiDTer

(B) wraTay @1 giovers

(C) YTl &1 TS
(D) gy i MR

gain A Y@ifsa st @ Sfta e

a4 si1?

(A) it @ g=if & waw e
ARl WE QR 2 |

(B) Y@ Wwa @ afiilE @ sr
@ & 5 qRedl @ SR A9,
e Wit gy fem <=t |
g3y fgurrh &d g
TD W AT YA 9 | ARG &
ardfta—1Rg &1 EROT E |

(C) WINEr & YWIBTEAY HHR ¥R 3 3T
it =l v o)

(D) Evimal & WRAwR § @ T
B HUE T JADHA DI 6
e @ A A | ARE A HER B
RIS @ WUE & " |

Wity @ I @1 e Al weagel
e a4 87

(A) =arag

(B) U

(C) gwre™

(D) Hevned
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Q147 F=fofag & @ fas aiefa Fryfa,
Bizal & wef aur ggafy anfz &
HoN 41 W 87
(A) 7=
(B) wRuz
(C) uw st
(D) @afaa ey

Q148 F=fafea % A frwusr wam wvard
wR W ARwm g 1ot § gt
e g, sy, st siv gl
@ I By A g 87
(A) FETEa AW
(B) sfErgE
(C) s+
(D) 9Rv=

Q149 Fr=ferfaa 4 9 o w1 wgem wv )
B?
(A) T
(B) ¢
C) &
(D) 3

Q150 Fr=ifafaa 4 9 &Y w1 aof <0 1) #7
(A) @
(B) =
(C) =
(D) 7

LM-E

i~

3

45

SERIES-E-C




ROUGH WORK / v% @ @ ferg

LM-E 46 SERIES-E-C




ROUGH WORK /7% &1 & fao

LM-E i7 SERIES-E-C




Read the following Instructions carclully ;

feifafae Fdat & sam | ud

1. QOut of the four alternatives lor each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
¢lse except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
&s under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Atlendance
Sheet,

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

7. The candidates should not leave the Examination Hall

without handing over their Answer Sheet 1o the

Invigilator on duty, Cases where a candidate has not

signed on the Attendance Sheet will be deemed not Lo

have handed over the Answer Sheel and dealt with as

an unfair means case.

Use of Pencil/Electronic/Manual Caleulator is

prohibited.

9. The candidates are governed by all Rules and

Regulations of the Commission with regard io their
conduct in the Examination Hall. All cases of unfair
means will be deall with ns per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has o return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate's copy Lo candidate, then only
candidate is allowed to leave the examination hall
Candidate is only allowed 10 take Candidate’s copy of
answer sheel,

11. Candidates are not allowed to tnke Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator afler the exam.

TPOLOP0E .,

ol

i uE B far Re 1 an Rt 4 @

HEl 9N @ U 3L U o O I W
e U e B B QN T8 $icl a1 Uige
99 9 ¥ | U AR 9 offda fae o @
418 IY a4 AR AT GEH B
ydemdi giiftaa & f o w=w # e
A Y U9 9 N e 3 e A amd
qdlamedt are e WeR Ees § Auifia
M B AfoRed s T fad
e gk U4 SR UAE @ SEad
wa F, wife B N offef@ § @aa
ydiET gieren | S B O1$ H) g e
Uit gd 9T TEE Quds T8 S
AT |
. e gitas A <1 T oden gRas G
a oiendl oft a9 @ ool ume 3
foref |

. 98 OIF WX U waemedl, @ S ol
IO WA oS faa
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